GP PERFORMANCE FULL EXHAUST
Titanium+Titanium

for HONDA DAX/CHALY

OV

VIR,

Part Number 13-12-02 oo
Part /QT
Silencer 1
Exhaust Pipe 1
Almi Bracket 1
¢ 90 Silencer Strap 1
Rubber Band 1
Spring 2
M8x 40 Bolt Cap 1
M8 Locking Nut 1
M8 Washer 2
M6x 10 Bolt Button 1
M6 Spring Washer 1
M6 Nut 1
@ 58x 28.6¢ End Baffle 1
1




OVER | oo

’Q ac tel 059-379-0037 fax 059-378-4253
E-mail shop@over.co.jp Website https://www.over.co.jp
13-12-02/200804A-2



